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Question 2
2(a)(i) Correct answer.
2(a)(ii) Correct answer.
2(a)(iii) The candidate does not gain full marks because in the first solution the candidate has not shown how 

the congestion charge would reduce the problem of traffic in towns.
2(b)(i) Correct answer.
2(b)(ii) Correct answer.
2(b)(iii) The question asks for ways that the squatter settlement is likely to have been improved. The answer 

given is not necessarily an improvement.  
2(b)(iv) The candidate does not have to rewrite the question.

Level 1 – The answer contains basic statements, largely a list, and probably taken directly from the 
diagram. Level 2 – a linked statement showing how the action would affect their lives. There are 
linked statements but not really showing the effect on the inhabitants’ lives, but showing some clarity.

2(c)(i)  The candidate does not have to use actual words on the diagram.
2(c)(ii) There is a linked statement showing why features contribute to sustainability.

Unqualified pollution gets no credit.
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